Virginia High School League Regional Competition, 2000-01 season

Match #5


These questions have been written for use by the Virginia High School League’s Scholastic Bowl competition at the Region level by Shawn Pickrell. These questions are to be used by individual Regions to conduct their Scholastic Bowl competitions under the following conditions, which must be known by all coaches, competitors and spectators of the competition. 

a. Release of these questions to any entity not affiliated with the Region competition or the schools that are members of the given Region before all Region champions have been announced is prohibited. This is meant to keep question security. 
b. Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all Region champions have been determined. This is also meant to keep question security. 
c. After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged. 
d. These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means. 

First period: 15 toss-ups

1.
President Clinton has recently expressed regret to the South Korean government over the reported massacre of South Korean civilians at what site in 1950?

ANSWER: NO GUN RI
2.
After losing the Yom Kippur War, he met with Menachem Begin in Israel, and then again at Camp David in the USA. Who is this man that won the Nobel Peace Prize with Begin in 1978, who was from 1970 to his 1981 assassination the President of Egypt?

ANSWER: Anwar al-SADAT
3.
These may occur as a result of a neurological lesion, and is quite often associated with Tourette’s syndrome. What is this involuntary non-rhythmic motor movement or vocal noise that serves no apparent purpose, such as rolling the eyes, shrugging the shoulders, or saying random things?

ANSWER: TICs

First period (continued)

4.
A veteran of the Persian wars, he was the first and most serious of the Greek dramatists. His innovations included increasing the number of characters that could appear on stage. Who is this playwright who wrote The Libation Bearers, The Furies and Agamemnon, collectively known as the trilogy of the Orestia?

ANSWER: AESCHYLUS
5.
THIS IS A COMPUTATION QUESTION. A mutual fund goes down 10% in the first year, after which the investor withdraws half his money from the fund. The fund then goes up by 20%. How much money, counting the money he withdrew from the fund, does the person have if he started with $100,000 in the fund? 

ANSWER: $99,000 (fund loses 10% or $10,000 after the first year. The second year, when he has $45,000 left – half of $90,000 – it gains 20% or $9,000. He therefore has $99,000)

6.
Mersault is the main character of what novel by Albert Camus?

ANSWER: THE STRANGER or L’ETRANGER (lay-TRAWN-zhay)

7.
Take a pyramid with a square base. Now place this pyramid on a cube, so the base of the pyramid covers completely the top of the cube. How many faces does the resulting solid have?

ANSWER: NINE
8.
A treble keyboard is played with the right hand, while six rows of buttons are played with the left hand. What is this portable instrument that is most often associated with polka?

ANSWER: ACCORDION
9.
On October 23, 1987, his nomination to the Supreme Court was rejected by a 58-42 vote. Who is this conservative judge whose name has now come to denote any attempts to vigorously oppose a Presidential appointment?

ANSWER: Robert BORK
First period (continued)

10.
If the volume of a gas decreases, then the pressure increases, and thus volume and pressure are inversely proportional. This is a statement of which law concerning the behavior of gases?

ANSWER: BOYLE’S law

11.
It is a good insulator of heat and electricity, doesn’t burn, and is resistant to chemical attack. Therefore, it was put in schools and other buildings across the country. Then, it was discovered that stray fibers could cause lung cancer. What is this material that was then removed from schools across the country, causing even more fibers to then be released into the atmosphere?

ANSWER: ASBESTOS
12.
What type of conjunction is being used in the following sentence: ‘I felt cold, although it was warm outside’?

ANSWER: SUBORDINATING conjunction 

13.
THIS IS A COMPUTATION QUESTION. A student got a GPA of 3.5 while taking 12 hours in the fall and then got a 2.8 while taking 15 hours in the spring. Remembering to weigh the GPA with respect to hours taken in the semester, what is his GPA to the nearest two digits for the entire year?

ANSWER: 3.11 (12 * 3.5 = 42, 15 * 2.8 = 42. 84 / 27 = 3.11)

14.
In Michelangelo’s portrait on the ceiling of the Sistine Chapel, two beings can be seen reaching out to each other with their forefingers outstretched. Who are the two beings reaching out for each other?

ANSWER: GOD and ADAM
15.
His defeat of the Greeks at Chaeronea (KY-raw-nee-uh) in 338 BC established Macedonian supremacy. Who is this man, best known as the father of Alexander the Great?

ANSWER: PHILLIP II or PHILLIP OF MACEDON
Second period: 10 directed questions

Read the questions marked with “A” to the team that selected question set A and the questions marked with “B” to the team that selected question set B.
1A.
THIS IS A COMPUTATION QUESTION. Take a circle with radius 5, inscribed inside a square. What is the area of a square?

ANSWER: 100 (as the square is 10 by 10, thus the area is 100)

1B.
What French painter painted The Death of Socrates, The Oath of the Horatii and Death of Marat?

ANSWER: Jacque-Louis DAVID
2A.
What English author wrote the Just-So Stories?

ANSWER: Rudyard KIPLING
2B.
What name is given to an aquifer with impermeable rock strata above and below it, thus leading to enormous amounts of pressure?

ANSWER: ARTESIAN well or basin

3A.
Which of the castes consisted of priests, and was therefore the highest caste?

ANSWER: BRAHMIN
3B.
Who is the author and illustrator of Where the Wild Things Are?

ANSWER: Maurice SENDAK
4A.
Used in puddings and as a thickening agent in liquid food, what name is given to this starchy preparation derived from the cassava root?

ANSWER: TAPIOCA
4B.
The Paris Commune rose in 1870 after the humiliating defeat of France by what neighboring nation?

ANSWER: PRUSSIA (accept FRANCO-PRUSSIAN war)

5A.
Who is the son of Priam and Hecuba that Achilles defeats in battle and then drags around the gates of Troy while riding his chariot?

ANSWER: HECTOR

Second period (continued)

5B.
THIS IS A COMPUTATION QUESTION. What are the roots to the equation x squared plus three x minus 10?

ANSWER: POSITIVE TWO and NEGATIVE FIVE (x-2 and x+5 yield x squared plus three x minus 10)

6A.
THIS IS A COMPUTATIONAL QUESTION. A rectangular lead box is 1 inch thick and is 6 inches by 8 inches by 4 inches. How much lead, in cubic inches, is required to make this box?

ANSWER: 87 cubic inches (the area ‘inside’ the box is 5 by 7 by 3. The volume ‘outside’ is 6 by 8 by 4 or 192 cu.in. the volume ‘inside’ is 5 by 7 by 3, or 105cu.in. Thus 192 – 105 = 87)

6B.
The Laws and the Republic were written by what classical philosopher?

ANSWER: PLATO
7A.
Who is the Black American author that wrote the play Mule Bone and the novel Their Eyes Were Watching God?

ANSWER: Zora Neale HURSTON
7B.
What physicist, inventor of the balance spring for watches, and first proposed the scientific law governing the elasticity of a spring, which is named for him?

ANSWER: Robert HOOKE
8A.
The Paris Commune rose in 1870 after the humiliating defeat of France by what neighboring nation?

ANSWER: PRUSSIA (accept FRANCO-PRUSSIAN war)

8B.
Howard Roark’s struggles against conformist mediocrity is the central plotline of what book by Ayn (EYEN) Rand?

ANSWER: THE FOUNTAINHEAD
Second period (continued)

9A.
What name is given to reactions that add electrons to a compound, molecule or ion?

ANSWER: REDUCTION reactions

9B.
Towns such as Clewiston and Belle Glade lie along the shores of what large, shallow lake in Florida north of the Everglades?

ANSWER: Lake OKECHOBEE
10A.
Laurent Kabila is the embattled leader of what country, formerly known as Zaire?

ANSWER: DEMOCRATIC REPUBLIC OF THE CONGO (DRC)

10B.
The Greek letter sigma is used to designate the sum of a series. What letter is used to designate the product of a series?

ANSWER: PI
Third period: 15 toss-ups

1.
What word used with reference to data transmission speed is equal to one bit per second?

ANSWER: BAUD rate

2.
Always, Easter Parade, God Bless America and White Christmas are all songs written by what author of Alexander’s Ragtime Band?

ANSWER: Irving BERLIN
3.
He suggested that the armed forces be placed under a unified command, and demonstrated the potential of air power by arranging the sinking of a battleship by air power alone. He was court-martialed in 1925 for saying that the military high command was incompetent. Who is this Army Air Force colonel that was found guilty, a famous proponent of air power?

ANSWER: Billy MITCHELL
4.
They are accompanied by unusual physical disturbances, such as moving or breaking objects, electrical outages, or loud raps. Sometimes, they are focused on or around the presence of a person, known as the focus. What are these disembodied spirits?

ANSWER: POLTERGEISTs (prompt on ghosts)

5.
Oxygen can occur in di-atomic or tri-atomic forms. Carbon occurs in graphite, diamond and buckyball forms. Phosphorus can occur in red or white forms. What is the name give to the one of several forms in which an element might exist?

ANSWER: ALLOTROPE

6.
Who is the man that at Weehauken, New Jersey, on July 11, 1804, was fatally shot by Aaron Burr?

ANSWER: Alexander HAMILTON
7.
Who wrote the poem, The Charge of the Light Brigade?

ANSWER: Alfred (Lord) TENNYSON

Third period (continued)

8.
THIS IS A COMPUTATION QUESTION. A map has a scale of 2 inches to 25 miles. How many inches would be needed to represent 325 miles?

ANSWER: 26 inches (325 / 25 = 13, 13 * 2 = 26)

9.
“In the Criminal Justice system, the people are represented by two separate, yet equally important, groups. The police who investigate crime and the District Attorneys who prosecute the offenders. These are their stories.” These have been the opening lines for the past 11 years on what NBC television series?

ANSWER: LAW & ORDER
10.
This operation is recommended for cancer, excessively large benign growths, and excessive menstrual bleeding. What is this operation, the surgical removal of the uterus?

ANSWER: HYSTORECTOMY
11.
This word takes its name from the Old Norse words meaning ‘bear-shirt’. These unruly warrior gangs worshipped Odin, serving as bodyguards and shock troops. Who were these Viking soldiers that raped and murdered at will, working themselves into a furious rage?

ANSWER: BERSERKERS
12.
This collective name is given to the people, who stand outside the gates to a factory or office during a labor dispute, lobbying people who go in. What is this group, most often associated with people protesting during a strike?

ANSWER: PICKET line

13.
What name is given to the Catholic belief that bread and wine used in the Eucharist are converted into the blood and body of Christ, thus making him truly present?

ANSWER: TRANSUBSTANTIATION

Third period (continued)

14.
What is the name given to the study of work, work environments and the effects of physical and psychological factors on work performance, an adjective also given to a chair that promotes good posture?

ANSWER: ERGONOMICS
15.
How many members are in the intersections of the set {1, 3, 4, 5, 6, 7, 9, 10} and the set {3, 5, 7, 8, 10}?

ANSWER: FOUR {3, 5, 7, 10}

Spares

With fantastic years for the Trail Blazers and for the Wizards in 96/97 and 97/98, he was thought to be a force for years to come. However in the past two years, his assist production has fallen off, and his attitude of not showing up to practice on time and willingness to complain to the media have helped drag the Wizards down. Who is this Wizards point guard?

ANSWER: Rod STRICKLAND
THIS IS A COMPUTATION QUESTION. What number is obtained when the product of 8 and 28 is halved?

ANSWER: 112 (8 * 28 = 112)

What is Stanley’s last name in A Streetcar Named Desire?

ANSWER: KOWALSKI
What name is given to the study of the flow of air and the behavior of objects moving relative to air?

ANSWER: AERODYNAMICS
What American state and what Canadian province had their common boundary determined by the Webster-Ashburton Treaty?

ANSWER: MAINE and NEW BRUNSWICK
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